ﬂh Finding Differences - Multiple Subtrahends Name:
Use subtraction to solve each problem. Answers
1) A school had chocolate, regular and strawberry milk. If the cafeteria had 980 cartons total,

with 270 chocolate milk cartons and 349 regular milk cartons, how many cartons of
strawberry did they have?

2.
2) A donation center was trying to get atotal of 2,147 cans. If they received 478 cans the first
day and another 785 the second day, how many more cans did they need to get to reach 3
their goal ? '
4,
3) The combined weight of three gorillas was 1,739 pounds. If gorilla A weighed 748 pounds
and gorilla B weighed 403 pounds, how much did gorilla C weigh? 5
6.
4) For apie eating contest, the carnival bought 1,369 pies. If there were 180 pies eaten in
round 1 and 417 more eaten in round 2, how many pies were |eft? 7
8.

5) Three classes were trying to raise 1,261 dollars for new science equipment. If class A
earned 241 dollars and class B earned 819 dollars, how much money does classC needto || o
earn to meet their goal ?

10.

6) Jerry had 933 tickets he had won at the arcade. If he spent 166 tickets on candy and
another 241 tickets on 'Crazy Goo', how many tickets did he have left?

7) Together three friends collected 2,019 cans for recycling. If the first friend picked up 591
cans and the third friend picked up 830 cans, how many cans did the second friend pick
up?

8) Roger had 2,483 dollarsin his bank account. If he took out 761 to buy some games and
another 872 for new clothes how much money isleft in his account?

9) Inone season afarmer picked 1,808 potatoes. If 610 of them were bad and he sold another
722 of them, how many did he have left?

10) A cookie company baked 2,466 cookies for their annual bake sale. If they sold 893 of
them in the first hour and 678 more the rest of the day, how many cookies did they have
left?
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ﬂh Finding Differences - Multiple Subtrahends Name. Answer Key

Use subtraction to solve each problem. Answers
1) A school had chocolate, regular and strawberry milk. If the cafeteria had 980 cartons total,

with 270 chocolate milk cartons and 349 regular milk cartons, how many cartons of 1 361
strawberry did they have? '
2 884
2) A donation center was trying to get atotal of 2,147 cans. If they received 478 cansthe first
day and another 785 the second day, how many more cans did they need to get to reach 3 588
their goal ? '
4 772
3) The combined weight of three gorillas was 1,739 pounds. If gorilla A weighed 748 pounds
and gorilla B weighed 403 pounds, how much did gorilla C weigh? 5, 201
6. 526
4) For apie eating contest, the carnival bought 1,369 pies. If there were 180 pies eaten in
round 1 and 417 more eaten in round 2, how many pies were left? 7 598
8. 850

5) Three classes were trying to raise 1,261 dollars for new science equipment. If class A
earned 241 dollars and class B earned 819 dollars, how much money does classC needto || o 476
earn to meet their goal ?

0. 895

6) Jerry had 933 tickets he had won at the arcade. If he spent 166 tickets on candy and
another 241 tickets on 'Crazy Goo', how many tickets did he have left?

7) Together three friends collected 2,019 cans for recycling. If the first friend picked up 591
cans and the third friend picked up 830 cans, how many cans did the second friend pick
up?

8) Roger had 2,483 dollarsin his bank account. If he took out 761 to buy some games and
another 872 for new clothes how much money isleft in his account?

9) Inone season afarmer picked 1,808 potatoes. If 610 of them were bad and he sold another
722 of them, how many did he have left?

10) A cookie company baked 2,466 cookies for their annual bake sale. If they sold 893 of
them in the first hour and 678 more the rest of the day, how many cookies did they have
left?
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